TOYO

XTERIO

2023 GENERAL CATALOGUE

SE AR SR B |- c

HAERICDVNTDTIER

W &Rl TRRE] DA TITERIIZTENTEY LA,
EmOFMICOEXR L TUEH 20T Z R IEEL,
B ERR @S FEEERTBBENCETVNETDTTTEILEL,

? o P A # T760-0055 F|IESMMHENEITHE2-14 TEL(087)862-5411 (fX) FAX(087)862-5418
?W:Qk)gy,q i '¥ I ¥ ﬁ it = *i http://www.toyo-kogyo.co.jp  E-mail:head_office@toyo-kogyo.co.jp



=78y 11
B ™ H5270y 4 11

Tuhivy—2Hh—T 4 7 #—IL800 04 ZA—bFr v 7 11
LAy Y —xXILA k=2 5 —IL800 04 gF)—Fv v 11
LAYy -2 AF—"7 5 —JL800 04 TAvEYvy S 11
LAY Y—2FF 2T Iy K75 —IL800 04 HANA=>Fvy T 11
TLH YT A T =Y 7y K7+ —IL800 04 AF¥—Fr v/ 11
LA TA Y T F—IL 04 R—=T4F¥vv 7 11
7 Ay /=800 04 NVAE R 11
TR0y =y 04 FFaTLTYy RFry T 11
LAY X RILA =y — )L 05 T4 T=Y Iy R¥rv T 11
ILHVU—RAF— T F—IL 05 LAY —Fvv 7/ 11
LAY —ZFTTF AT Ty RT3 —IL 05 AR v 11
LA RT AT =Ty RT3 —IL 05 LoLFvy S 11
zLHv -2 AV —"T =L 05 Fov®vy/ 11
LAY -2 AN—"7 5 —)b 05 Abh=vFyrv S 11
LAY -2 T YT 4 —Ib 05 2 L¥v v TS 11
LAY -2 T IV F —IL 05 REZAYyaFfry S 11
TLAHYY—RA—H T F— I 06

TLH -2 N T VT F— L 06 'E‘Ilj *j-

Ly szA k=230 T —Ib 06 ZATL—k 12
JLy o2z =3 TV T T+ —/L800 06 KA =T L — b 12
FLvszrak=v3/) T T ILIR—& — 06 RAFE—TL — | 12
FLyvsRA =37 VTR — X — 06 FFaTILTy K7L —F 12
FLy sz b= 3E T FR—& — 06 Ty TF—y oy R7L—h 12
JLyszak—y3A T Uy b 06 LAY—7L—h 12
TLysagAnt AT F—Ib 06 IN—7L—F 12
TFLyozaand AU =7 F—)b 06 AR A 12
TEFYU—*h 06 L7 L—t 12
IL-FRY— 06 F—HhT7L—Fh 12
47—+ 07 N AVE 12
AL v E—7x—)b 07 SO NA = AT A YT 12
TOYO S-800 07 J 7z T L —h 12
Ky—-nvyy 07 TyTF7L—Fh 12
URIZZ b= 07 ETFF7L—Fh 12
YUy FR b=y Iy 07 TINTFR =V 12
YUy Fx b=y > bk 07 Oy 7L—Fk 12
eEx k- U —H 07 REY 7R k= 12
eEzxb—>7 LA X 07 z2ox72 k=7 L— K 13
IEBLE-F 08 v TR—&— 13
f—a3——X 0O 08 2sx72 b= EYA 7 13
= (e Sy % 08 JA—RKEYA 7 13
STR7Y v k 08 NAYTUy T T4~ G 13
STLIB1L/1LW 08 ARNTU YT T4 G 13
ST LIB 5L/5LW 08 FINETV YT T74 b @i 13
747 09 T7947 )y 074N G 13
KA 9002 - 6002 - 5007 09 PURTYU YT T4 G 13
XK TY T —Ib 09 Fuwz7uy s NG - TA N g 13
RA g - TUy T+ —Ib 09 7usz7yy o BB - T4 b @ 13
NAYTYy Tt —IL 09 Fu270ys TUT Uy T o TA N @) 13
AZANTV Yy TT+—IL 09 BES

FINETY Y T4 —)L 09 ﬁ 3R *Zr

TZ7 47y 7 r—Ib gamh 09 Za—bRAT ~AFY— 14
PURTY Yy o4 —IL 10 Za—bA7 14
Y27y s Y NT - T — L am) 10 KA —=v_A7 14
7uw27yy 2L AR (anvsy) 10 AF—RA7 14
TuwzTY s TN Ty 10 T —HR—%— 14
Jumz7yys 7 ) a0 10 TIT—HR =V 14
Juwzsuys A R 10 T —hHRAT 14
Oy VR R—=v 10 TI=HT) 14
TY&EM®RT Oy TL—v 10 HIVLA b= 14
TY®RM®RT7 Oy 7 RMZ 42 10 HILRAT 14

01
sz (FEA | -)



F—o L2 b= T —RAKRT A b 19
F—pnzp—>) A—)b 19
F—o Nz b= T I— ) 19
t>ano/2-3T#HE>a0 19
e 19
YILFR b=V 20
SHHE (BREL47/XELAT) 20
A mzanw) 20
JZyaAw Yy 20
IS5 AR =V 20
SR M=V 20
IWNTILA k= 20
FTFa2TRb—=V 20
Fry—LUZ7ya 20
ER (hrcnl) 20
LY+ X b= 20
ES-0Ov 7S 20
TIVTRR k= 20
NHFILTF 4 —F 20
IFY—X =220 20
A —X =210 21
TJITy)RAN ) =X 21
TV 21
Jr¥x 21
L7z 21
HILE S 21

RILE7 Yy s 14
RILEF*a1—-7 14
HF7Vy 7 15
TITRAT 15
Ky — X7y 15
Za—btRFYS 15
WA=V RT VT 15
IVIFIVRRTFy S 2z b 15
Uy TIR=Z by 15
Ty TIR—2 15
JL/IR—=8— 16
TTERAT 16
FtF own) 16
ToUFRAT 16
Ty AZF AT 16
v — R~RATEX 16
TR NAT Vw1 16
TR NATYyIR—&— 16
BALR~—H— 16
@iLh LKT-20 16
77 AR—K— 16
sa— bk 16
IJLIL 16
IJLILR—K— 17
INA - Ty g4 17
NA -7 w6 17
NA Ty SEEME 17
RA G« TYyoRA47 17
SHILRT )y oRAT 17
N 17
NayTYy IR—&— 17
NRA Y bR —&— 17
ARNTV Yy o_A7T 17
FNETY) g _AT 17
T 74Ty I RAT 17
SURTYyo_AT 17
TUeRTY s TINTG e RA T 17
FFaTINTy RRAT 17
GavF—Py FAY = /=R T 17
Ta Ty ERA T 18
TAF—Dy IR — X — 18
LARZY —n=RA T Z A k 18
LARRY —r5—RA T 18
LAYFR = 18
NILTR = 18
YLT7A M=V 18
JyJAL—k 18
P/ 2y o R 18
s0/ R b=V 18
IILRR k= 18
TJT/R b=V 18
FILTR b= 18
TN f— 18
SALRAR—Y 19
2ox72 =L —k 19
CyNT A A= 19
Fe MR b= T T — s 19
FeonZb— A RANZTH—IL K 19
Sz b— T =L — 19
F—s LR b= /N—)L A4 T O— 19
F—s LR b= /N—ILE VT 19
Feo LR = /N— LT T 19

Yavr—owy kR AY == 7 | 21
LALzY—i—T 7 b 21
AF—iR—JL 21
TavF—Tyy KIR— L 21
77y R—n— 21
77—L7TVvR 21
77y L= 22
H=Frovs T 7w — 22
Ys—g—ta—dVE 22
Yr—g—ta-—<JL 3 22
Yws—g—ta—FILIL 23
vr—s—ta-FILILESERE Y b 23
Ya—t—ta—T ) — 23
Ya—st—ta—ARY 23
Yr—f—ta—dV &K 23
Gh—st—a—RAE—IN&T—Y 23
ws—s—ta—L AR —/— 23
Yr—k—ta-T A T—=T Ty R 23
vr—sg—ta—F v A b 24
9r—sa—ta—PEAER/IN 24
Ys—f—ta— AT VISV 24
BTy T INY 24
Yr—s—ta-Ry TY =X 24
E—L~RN>T 24
R —=/N=RF 24
H—=T >Ny b 24
LAy —n—7 0y S 24
Gavr—vy R 70y T 25
Ky 70—R— 25
pex VA 770y Y 25
Dex/\o—:\:\/7“7\‘|:|“/7 25
Za—bkRX—=F2F 25
qAy ZN—F 7 25
AN === 25
02

fitg& (FAZ | -c)



TR Ry s— (aqvikw) 25 L—7 28
IVRIVRIA N XL 25 0—7 28
H—F7>Z4 b+ LED> U —X 25 I 28
JA—IT4 kLEDYY =X 25 IR 28
A7 7AbV—=7—2 =X 25 TTATR 28
70774~ LEDYY —X 25 LYz 28
T — 25 R~ 28
° S J L7 2
AR I‘/'U"f/ A 7L R 22
aAEF X 26 Z7i-X 28
Va/4=PN 26 Ty h 28
2T R—)L 26 iy 7 28
aL b 26 T4 29
T)Ld 26 15T 29
IA—JL 26 INFA 29
DI 26 e 29
7/ 26 - 29
bl % 26 - 28 VT AL 29
LR 26 JILITVT 29
Yib—+b 26 - 30 754 29
AO£&MS#Y 26 L 29
7z AP RVL 26 70X 29
Thr7 26 7OXT7L—LA 29
ITUT4 26 HEY— 29
IUT4T7y R 26 Loy F 29
AYLRZZE 26 F4=F 29
v/ 26 FTI7R 29
77X 26 DAY 29
7> h 26 7oLk 29
LT 26 T=TA4T 29
ARZZE R 27 AT BE 29
7JrAY R 27 TEKBE 29
277 XFF 27 7 R b 29
1—ANy7 27 TU—F 29
AZAY vy 2RI b 27 ~L R 29
Ry 27 FF v b 29
73aA 27 aJ)—x 29
7ILE 27 AbUT 30
7AaLR 27 JL7—F 30
IUR 27 2FAT 30
TRy — 27 A Y 30
R — 27 SLET 30
a7 A 27 =B
ES 27 BIEM
VAR 27 NSHNA 7Ly TR 15
TL/TLTAR 27 TOYO Y aAH# > F4-5 16
RN 27 TOYO ¥ aAH# > K- /n—=F 16
T4 27 B — b 16
LaF 27 TERE IE/ X — 30
LA 27 AATN—=F 30
LAY —F 27 L b T ZRAESU geEm) 30
A7 /NN 27 T78Ahvy b 30
TE b 28 77 77— IL200S - 500S 30
TRATAE 28 T R 30
RLZS 28 24 bLvy AP 30
KL AR 28 4>/ =LY F7a—+ 30
A 28 A/ =77 aA—FRX—/— 30
AV 28 e Y- 30
77—/ 28 A7) —>vR—/X—SP 30
AR =— 28
Uy 28
hL R 28

03
sz (FEA | -)



R—F 4 7 +—JL800

KILA k=27 +—)1800

fRiE S (F) BB | SUEMEAE (F) BBl
AR 4,750
F—LTL— FRERE 4,750
J—7+— 5,700
1/43—F— 4,750 WELL
1/23—+— 4,980
3/43—F— 5,230
a—F—7L—+ 2,450
ZNARF—=>F vy S
fRiE S (F) BB | SUE S (F) BBl
400% B 1,640 1,750
4000 —F—%E 1,640 1,750

FTFaTITy K74 —I800

GniE A (F) BL B | SUE s (F) BBl
HoARR 4,750
a—4— 5,700 .
1/22—+— 4,980 WEE L
J1—F+—7L—+F 2,450
F—TA4F¥vv7
GniE A (F) BL B | SUE s (F) BBl
TE 2,190 2,340
a—F—%E 2,190 2,340
R F—7 4 —)L800
GniE A (F) BL B | SUE s (F) BBl
HoARR 4,750
S LT L — b REAR 4,750
J—7— 5,700
1/43—F— 4,750 WEL L
1/22—+— 4,980
3/40—+— 5,230
J1—F+—7L—+F 2,450

AX¥—Fvy /YIRS

GniE A () B pll | e A (F3) BB
4005 1,640 1,750
4000 —F—%E 1,640 1,750
T4 vT—7y K —IL800
GniE A () B pll | BUE A (F3) Fe B!
HoARR 4,750
F— L7 L— b RERE 4,750
a—4— 5,700
1/43—F— 4,750 WEL L
1/2a—%+— 4,980
3/40—+— 5,230
aI—F—7L—+ 2,450
TA4vT=C Uy R¥vy S
GniE A () B pll | e A (F3) BB
4005 1,640 1,750
4000 —F—%E 1,640 1,750
70y 7 /8—800
GniE A () B pll | BUE A (F3) Fe B!
HAR 940 990
a—4— 940 990

fRiE S (F) BBl | SUE S (F) BBl
AR 4,750
F—L7L— AR 4,750
J—7+— 5,700
1/43—F— 4,750 WERL
1/23—+— 4,980
3/4a—+— 5,230
a—F—7L—+ 2,450
FTFaTNLTy Rxry S
fRiE S (F) BB | SUE S (F) BBl
40055 B 1,640 1,750
4000 —F—%E 1,640 1,750
A7 F—Ib
fRiE S (F) BBl | SUE S (F) BBl
AR 3,630 3,780
a—+— 4,670 5,000
1/232—%+— 3,600 3,850
TAvFvy S
fRiE S (F) BB | SUE S (F) BBl
B 2,040 2,180
a—F—%8 2,040 2,180
J0Oy g N—Y
fRiE S (F) BBl | SUE S (F) BBl
AR 730 780
a—+— 730 780
1/22—%+— 730 780

4
fitex @A -c)



5

WA= 5—)b

maiE

A () Bl

SOE i (F3) B Al

AFX—7x—JL

B 3,380 3,620
a—F— 4,450 4,760
1/22—7— 3,440 3,680

TIWZAb=vFvy S

maiE

A () Bl

SOE A (F3) B Al

TE 2,040 2,180
I—+—%E 2,040 2,180
FTFaTILTy RTx—Ib
faiE RS (F)FLRI | SUE Mg (F) B sl
HAR 3,380 3,550
a—4— 4,450 4,670
1/23—+— 3,440 3,610
FFaTLTy RFry S
faiE RS (F)FLAI | BUE Mg (F) K sl
TE 2,040 2,180
a-F—%E 2,040 2,180
LAY —75—JL
faiE RS (F)F B! | BUE Mg () B Al
HAR 3,530 3,780
a—F— 4,670 5,000
1/23—+— 3,600 3,850
LAY —Fvv 7/
faiE RS (F)FLRI | e Mg (F) B Al
Gt 2,150 2,300
a—F—%8 2,150 2,300

ZyPUF—I

maiE

A () Bl

SE i (F3) B Al

B 3,530 3,780
a—F— 4,670 5,000
1/22—%— 3,600 3,850

fRiE RS (F) Rl | S M (F) AR
HAR 3,380 3,550
J—7+— 4,450 4,670
1/23a—4+— 3,440 3,610
AF¥—Fyvv
fRiE RS (F) Rl | SE M (F) BB
LB 2,040 2,180
1—F—%E 2,040 2,180
T4 TF=T Ty Ry —IL
fRiE RS (F) Rl | S MmAS (F) AR
AR 3,250 3,550
J—7+— 4,280 4,670
1/23—4+— 3,320 3,610
T4 T—Y Oy R¥xvy S
fRiE RS (F) Kl | S MmAS (F) AR
LB 1,930 2,180
—F—%EB 1,930 2,180
aA/N—7 4+ — )L
fRiE RS (F) Rl | S mAS (F) AR
HAR 3,530 3,780
a—F— 4,670 5,000
1/23—4+— 3,600 3,850
Tyl xvy S
fRiE RS (F) Kl | S mAs (F) AR
oA 2,150 2,300
aO—F—%E 2,150 2,300
LIV +—Ib
fRiE RS (F) Kl | SEMmAS (F) AR
HAR 3,380 3,620
J—7+— 4,450 4,760
1/23—+— 3,440 3,680
LoILF vy 7
fRiE RS (F) Kl | S M (F) AR
LB 2,040 2,180
1—F—%E 2,040 2,180

AN
faiE RS (F)FLRI | e Mg (F) KAl
Gt 2,150 2,300
a—F—%8 2,150 2,300
Ty THA Ry T
faiE RS (F)FL A | e Mg (F) B Al
Gt 2,150 2,300
a—F—%8 2,150 2,300

fifitéx (FEHAI-c)



F—hT+—I

mmiE A () Bl

SOE i (F3) B Al

RYIE AR 3,530 3,780
R¥ja—+— 4,670 5,000
1/22—+— 3,600 3,850

AR A

miE A () Bl

SOE A (F3) B Al

2,150

2,300

2,150

2,300

Ly IR =3 OvyYor—IL

faiE A (F) BL B | SUE s (F) BBl
HAR 8,500 9,600
2H—ha—F— 13,000 14,700
IvRa—F+— 13,000 14,700
24— t1/2a—F— 9,400 10,600
v R1/23—5— 9,400 10,600
THRER 4,250 4,800
HHRI—F— 4,700 5,300

o x—Ib

E A {fiE (F) Bt 31 | BUE S (F9) #E 50

EAR 3,380 3,620

a—F— 4,450 4,760
1/23—+— 3,440 3,680
FovEry S

E A fiE (F) Bt 31 | BUE S (F9) #2 50

EE 2,040 2,180
a—F %8 2,040 2,180

Ly I RRA =3 LHYTT4+—IL800

Ly O RRA =3 JP R —&—

maiE A (F) BER! | SE i (F) B Al
X 5,600 6,350
a—F— 8,400 9,500
1/232—7+— 4,900 5,550
FREXR 5,600 6,350
THa—F— 6,200 7,000

Ty RX =3 EFFAR—K—

& AT () B3 | S g () K31
EAR 6,200 7,000
a—F— 7,450 8,450
1/43—F— 6,200 7,000
1/232—+— 6,500 7,350
3/43—F— 6,300 7,700
a—F—TL—k 3,100 3,500
TRER 5,000 5,650
HEHRI—F— 5,500 6,250
Ty I RA =23 FrFh—&K—

& AT () B3 | SR g () K31
EAR 5,600 6,350
- 8,400 9,500
1/2a—7— 4,900 5,550
TRER 5,600 6,350
SRI1—F— 6,200 7,000

TLyIRAA =3 X7 Uy b

maiE A (F) BER! | SE i (F) B Al
X 5,600 6,350
a—F— 8,400 9,500
1/232—7+— 4,900 5,550
FREXR 5,600 6,350
THa—F— 6,200 7,000

TLYIREAIL X T+—)L

57 A () B3| e fe (F3) 250
HAR 5,600 6,350
a—F— 8,400 9,500
1/23—+— 4,900 5,550
EREA 5,600 6,350
EHE1—F— 6,200 7,000

TLy IREAIN TFY—Tx—Ib

faiE AAMEAE (F) BL B | SUE s (F) BBl
HAR 11,500 12,200
a—4— 16,200 17,200
1/28 AR 5,750 6,100
1/22—+— 8,100 8,600
sFY—F vy 2,400 2,570
LAY RANF Yy T 2,550 2,700

fpiE S (F) BB | SUE S (F) BBl
AR 11,500 12,200
i 16,200 17,200
1/28AE 5,750 6,100
1/23—4+— 8,100 8,600
sAY—Fr v 2,400 2,570
SFY—RANF vy T 2,550 2,700

L-Fx)— (ETY—FERA)

At (F) Hal

22,300

St (F) B3l

BER L

TETY-—F
i A Ps{HE () L) | S e (F) Hia)
EXR 1,300 1,430
a—7F— 1,370 1,510
TE 1,530 1,700
1—F—FE 1,570 1,740

6
e @AK | -c)



ALy H—7x—I

faiE RS (F)FLR! | BUE Mg (F) B Al
AR 1,430 1,570
a—F— 1,510 1,660
1/2a—+— 1,510 1,660
B 1,680 1,880
I—+—%E 1,730 1,930
TOYO S-800
faiE RS (F)F A | e Mg () B sl
HAR 2,280
a—4— 2,450
1/2EAH 1,660 &
1/2a—+— 2,450
Few—-n0Ovy 120847
D= faiE RS (F)FLRI | e Mg () K sl
v HoARR 1,300 1,430
BG a—4— 1,370 1,510
CG 1/2EAH 1,140 1,250
DG 1/2a—%+— 1,370 1,510
HAR 1,480 1,630
PW a—4— 1,620 1,780
1/28 AR 1,270 1,400
1/22—+— 1,510 1,660
DRV ZR b=
faiE RS (F)FLRI | e Mg (F) B Al
HAR 1,390 1,530
a—4— 1,480 1,630
YUy RZA b=y TvyP 120847
faiE RS (F)F A | e Mg () B sl
AR 1,670 1,840
1/2EAH 1,080 1,190
a—F— 1,750 1,930
1/22—+— 1,750 1,930
YUy RZA b=y HAVE 120247
faiE RS (F)FLAI | BUE Mg (F) K sl
AR 1,670 1,840
1/2EAH 1,080 1,190
a—F— 1,750 1,930
1/22—+— 1,750 1,930
ERAR—> U—H
faiE RS (F)FLBI | e Mg (F) K sl
HAR 1,490
a—4— 1,590 &

fifitéx (FEHAI-c)

= fRiE IS (F) Fe Bl | SUE Mg (F) Fi 5
vV HEAR 1,750 1,870
BG a—F— 1,870 2,000
G 1/2a—+— 1,870 2,000
TE 1,980 2,120
DG —F—%E 2,020 2,160
AR 2,160 2,310
J—7+— 2,280 2,440
PW 1/23—4+— 2,280 2,440
oA 2,460 2,630
a—F—%E 2,500 2,680
Few—-n0ovsy 150247
= fRiE IS (F) Fe Bl | SUE Mg (F) Fi 5l
v AR 1,600 1,760
BG a—F+— 1,680 1,850
caG 1/25AKA 1,340 1,470
DG 1/232—%+— 1,680 1,850
AR 1,800 1,980
W a—F— 1,850 2,040
1/25 AR 1,450 1,600
1/23—4+— 1,810 1,990
YUy RR b=y TvP 150847
fRiE RS (F) Kl | SEMmAS (F) AR
AR 1,850 2,040
1/25 K7 1,230 1,350
J—7+— 1,950 2,150
1/2a—+— 1,950 2,150
YUy RRr=> KAk 150847
fRiE RS (F) Kl | S MmAS (F) AR
AR 1,850 2,040
1/25 K7 1,230 1,350
J—7+— 1,950 2,150
1/2a—+— 1,950 2,150
ERA b= FTLAX
fRiE RS (F) Kl | S MmAs (F) BB
AR 1,490
J—7+— 1,590 RE



IIBHLE—F
faiE A (F) BL B | SUE s (F) BBl
HAR 1,820 2,000
a—4— 2,100 2,310
TE 1,920 2,110
I—+—%E 2,300 2,530
TOYOA —R T 1208
faiE A (F) BL B | SUE s (F) BBl
HAR 810 880
a—4— 1,000 1,080
STRZ7Uw k OL120%! FEfttE
faiE A (F) BL B | SUE s (F) BBl
EHAR 740 790
a—F— 910 980
1/22—%+— 520 560
STRZUw b OLW 120%! Mm@t Lt
faiE A (F) BL B | SUE s (F) BBl
HAR 810 870
a—4— 1,000 1,080
1/23—+— 620 660
STLIB &
faiE A (F) BL B | SUE s (F) BBl
TE 790 850
I—+—%E 1,000 1,080

STLIB 1L 120% FmEftE

maiE

A () Bl

SOE i (F3) B Al

EXR

740

790

a—7F—

910

980

STLIB 1LW 120% ijmft +

maiE

A () ARl

SOE A (F3) B Al

EXR

810

870

a—7F—

1,000

1,080

STLIB 5L 120% FmEftE

maiE

A (F) Bl

SE i (F3) B Al

EXR

740

790

a—7F—

910

980

STLIB 5LW 120% ijmft +

maiE

A (F) Bl

SE i (F3) B Al

EXR

810

870

a—7F—

1,000

1,080

TOYOA —X @ 1202
miE ARAE (F) Bl | ek e fifts (F3) e 5!
EFE 810 880
a—F— 1,000 1,080
1/23—4+— 1,140 1,230
TOYOAM—X 7> 1508
maiE AR (F) Bl | ek e fifds (F3) 5!
EFRE 1,130 1,220
a—F— 1,400 1,510
STA7 Vv b OL150% FEftE
miE AR (F) Bl | ek e fifids (F3) e 5!
EFE 910 980
a—F— 1,110 1,190
1/23a—4+— 630 680
STAZ Vv b OLW 1508 Mm@t
maiE AR (F) Bl | ek e fifds (F3) e 5!
EFE 1,130 1,220
a—F— 1,390 1,500
1/23—4+— 830 890
STLIB 1L 1508 Fmft Lt
miE AR (F) Bl | ek e fifts (F3) 5!
EFE 910 980
a—F— 1,110 1,190
STLIB 1LW 150% Mm@tk
maiE AR (F) Bl | ek e fifds (F3) 5!
EFE 1,130 1,220
a—F— 1,390 1,500
STLIB 5L 1508 Fmft Ltk
maiE AR (F) Bl | ek e fifds (F3) 5!
EFRE 910 980
a—F— 1,110 1,190
STLIB 5LW 150% Mm@tk
maiE AR (F) Bl | ek e fifds (F3) 5!
EFE 1,130 1,220
a—F— 1,390 1,500

8
e @AK | -c)



9

742 1208 FmEftES
faiE RS (F)FLR! | BUE Mg (F) B Al
AR 730 790
a—F— 890 960
247 1208 WmEdt b
faiE RS (F)FLR! | SUE Mg () B sl
AR 790 850
a—F— 980 1,060
KA 900E! FFEZEE Y v
faiE RS (F)FLRI | SUE Mg (F) B Al
HAR 6,680 7,350
R 7,670 8,440
1/25 AR 4,280 4,710
1/23—+— 4,970 5,470
B 6,720 7,390
I—+—%E 7,670 8,440
900% FHEPIE 8,610 9,470
900% FHEPIE 8,610 9,470
KA L00E! FFEZEEY v >
faiE RS (F)FLRI | SUE Mg (F) B sl
HAR 1,540 1,690
a—F— 1,750 1,930
1/25 AR 1,060 1,170
1/29—F— 1,240 1,360
B 1,560 1,720
a—F—%8 1,750 1,930
YLK T Yy T r—IL
D= faiE RS (F)FLA! | e Mg (F) K sl
HAR 260 280
a—4— 305 325
YN RT T 1/2EAH 260 280
Yy RR—=X | 1/2a—+— 305 325
TE 290 310
I—+—%E 290 310
AR 305 325
a—F— 355 380
Yw I RERTA R 1/2EAH 305 325
YR Y—L| 1/23—F— 3556 380
TE 345 370
a—F—%8 355 380
Navy7Uy g gx—I
faiE RS (F)FLRI | e Mg (F) B Al
AR 470 540
B 545 625
FINETY Yo Tr—Ib
faiE RS (F)FLRI | e Mg (F) B Al
AR 470 540
B 545 625

fifitéx (FEHAI-c)

Z4 2 1508 FmEt kS
fRiE RS (F) Rl | S M (F) AR
AR 880 950
J—7+— 1,080 1,170
4 1508 mmEt kS
fRiE RS (F) Rl | S M (F) AR
AR 960 1,040
J—7+— 1,200 1,300
K& 6002 FEEET v
fRiE RS (F) Rl | SE M (F) AR
AR 3,000
J—7+— 3,570
1/25 K7 2,000
1/2a—+— 2,310
TE 3,020 RE
—F—%E 3,570
6008 FAEPIHE 5,700
6008 FHEPIE 5,700
KA B00RE! R&Av&—F
fRiE RS (F) Rl | S mAS (F) AR
HAR 1,460 1,610
J—7+— 1,660 1,830
1/25 AR 960 1,060
1/23—4+— 1,130 1,360
TE 1,460 1,610
—F—%EB 1,660 1,830
RAYG TV Tx—JL
fRiE RS (F) Kl | S M (F) AR
AR 340
J—7+— 360
1/25 K7 340
1/20—+— 350 RE
TE 365
1—F—%E 400
ARNT YUY T Tx—Ib
fRiE RS (F) Kl | S mAs (F) AR
AR 430 475
oA 475 525
T4 7y TFx—I
fRiE RS (F) Kl | S mAs (F) AR
AR 455 500
oA 670 740




VATV Tx—Ib

TVIRT) vy BT - Tx—)b

faiE RS (F)FLR! | BUE Mg (F) B Al
HAR 435 480
B 635 700
TV R7 )y FLEM [Fa0LY]
HhT— SRiE RS (F)FLR! | BUE Mg (F) B Al
x o EAR 380 420
B 420 465
A HAR 410
a5 A 445 RE
Uy R7Yy o 7Yan
faiE Hh7— RS (F)FLRI | BUE Mg (F) B Al
ZTYUKRTA b 285 BE
TVTZv Y 370 410
~J @90 j:j;!:
g 275 305
ZUFroy b
ZTYUKRTA b 590 BE
TUTSv Y 780 860
>y 21190 jj;;:
Y Faa 590 650
VAE A=A
TY®R#®7ovs 7JL—>» 16508
faiE RS (F)FLR! | e Mg () K sl
HAR 540 580
a—4— 660 710
KR = 2,370 2,560
INVF 540 580
TYR®7 7oy JL—>» 2108
faiE RS (F)FLR! | e Mg (F) B Al
HAR 810 870
a—4— 850 920
KR = 2,840 3,070
N F 830 900

TY®R#Z7Aay s RMZ 4 71508 FEML L

faiE A (F) BL B | SUE s (F) BBl
HAR 890 960
a—4— 1,080 1,160
kIR E 2,840 3,060
{LHE N> F 1,700 1,830
INVT 540 580

TY®R#RZ7Aay s RMZ4 72108 FEML L

maiE A (F) BERl | SE i (F) B Al
AR 1,230 1,320
a—F— 1,400 1,510
Kig = 3,160 3,410
LHE/ N> F 2,130 2,300
N TF 830 900

Hho— & AT (F) B 31 | SR s (F) At 31
FYRETTIY EARY 380 420
Yy Rg—2 st 420 465
EARY 420
K7 A b e 275 HE
o HoAH 540 595
777 =B 590 650
TVIRTVyy TVT Uy Y
Hho— & AAEAE (F) B 31 | R s (F) At 31
zono AT 380 420
AN 4=0 2
ZYUF =320 P
engt B 420 465
. EARY 420
)=
TUKRTA b e 275 HE
R, EARY 540 595
7V77v7 =B 590 650
TVI9RTYy o AR
& AR () B3 | SR E g () K31
ZE—I 340 375
5— 420 465
dyYXk—v
& AR () B3 | SR E Mg () K31
Ay YR r—Y 75,900 91,100
TY®E#®R7o0vs JL—> 180%
& AT () B3 | R g () K31
AR 740 800
R 800 860
KR E 2,610 2,820
INV T 750 810
TY®E®RT7O0v s JL—> 2408
& AT () B3 | SR E Mg () K31
EARY 940 1,020
- 1,070 1,160
KR E 2,960 3,200
INV T 950 1,030

TYERE®R7O0v o RMZ4 7180 FEMEL

fRiE S (F) BB | SUE S (F) BBl
EHAR 1,060 1,140
J—7+— 1,250 1,350
KIgE 3,020 3,260
1Lt F 1,880 2,030
INVTF 750 810

10
e @AK | -c)



ZII—T7Aay Y

Ho7270y7

faiE A (F) BL B | SUE s (F) BBl
Zh—T 0y 2,200 BMEHL L
JA—bFr v
faiE A (F) BL B | SUE s (F) BBl
LTEBAMK 20,500 21,500
IvRFvyy 7 2,150 2,260
EEsE 2,250 2,360
TAvFry S
faiE A (F) BL B | SUE s (F) BBl
B 2,040 2,180
a—F—5%58 2,040 2,180
A¥—Fyvv S
faiE A (F) BL Bl | SUE s (F) BBl
B 2,040 2,180
a—F %58 2,040 2,180
40058 1,640 1,750
4000 —F—%E 1,640 1,750
A/ R
faiE A (F) BL B | SUE s (F) BBl
40058 1,640 1,750
4000 —F—%E 1,640 1,750
TA4vT=C Uy R¥vy S
faiE AAMEAE (F) BL B | SUE s (F) BBl
TE 1,930 2,180
a—F 58 1,930 2,180
40058 1,640 1,750
4000 —F—%E 1,640 1,750
AR A
faiE A (F) BL B | SUE s (F) BBl
B 2,150 2,300
a—F—58 2,150 2,300
[N A
faiE AAMEAE (F) BL B | SUE s (F) BBl
TE 2,040 2,180
a—F—58 2,040 2,180
2Y LF vy 7S
faiE A (F) BL B | SUE s (F) BBl
HAR 1,100 1,180
a—4— 1,290 1,380

11
g% (FmAK-c)

fniE AP (P A2 81 | BUE s () BB
H5Z7 Ay 1450 1,820 RE
#5270y 19000 2,190 2,520
THRAVY UM 370 430
JF)—Fvvy
fniE AP (P A2 81 | BUE 4 (F3) BB
=B (a—F—%0) 2,400 2,570
AWNA—>Fvy T
fpiE AP (P A2 81 | BUE s (F3) BB
B 2,040 2,180
a—F—%8 2,040 2,180
4005 B 1,640 1,750
4000 —F—%E 1,640 1,750
R—F4Fvv 7
fniE APEAE (P A2 81 | BUE 4 (F3) BB
TE 2,190 2,340
a—F—%8 2,190 2,340
FTFaTNLTy Rxry S
fniE A IS (P A2 81 | BUE s () BB
TE 2,040 2,180
a—F—%8 2,040 2,180
4005 B 1,640 1,750
4000 —F—%E 1,640 1,750
LAV—Fvv 7
fnis AP (P A2 81 | BUE s (F3) BB
TE 2,150 2,300
a—F—%8 2,150 2,300
LoLFxvy /S
fpiE AT (P A2 81 | BUE s (F3) BB
TE 2,040 2,180
a—F—%8 2,040 2,180
Abh—vFvyS
fpiE AP () A2 51 | BRE A& (F3) e Bl
e AR 2,810 3,150
S S 3,100 3,480
SL—ahiF AR 2,980 3,340
HhE a—7— 3,280 3,680
AEZA)yvaFfyy S
fpiE h7— AP (F) A2 31 | BRE A& (F3) e Bl
A ZNCN DP 14,300
A ZNCN ST 11,700
TBERX—R ST 1,420
IV RFry 7 DP, ST 1,960 WELL
90° a—F—s8— DP, ST 2,340
EHI—F—/—Y DP, ST 1,470
EEY a A vk DP, ST 1,850




TIWA =T

L— b

faiE RS (F)FLA! | SUE Mg (F) B Al
HAR 4,500 4,820
1/2%84 2,250 2,410
FFaTLTy K7L —F
faiE RS (F)FLA! | BUE Mg (F) B sl
HAR 4,500 4,820
1/2%4 2,250 2,410
LAY —7L—F
faiE RS (F)FLRI | BUE Mg (F) B Al
HAR 4,720 5,050
a—5—# 4,720 5,050
1/2a—+—%84 2,360 2,530
A A
faiE RS (F)FLAI | e Mg (F) B Al
AR 4,720 5,050
a—5—# 4,720 5,050
1/2a—+—%84 2,360 2,530
F—h7L—F
faiE RS (F)FLA! | e Mg (F) KAl
RYIEAF 4,720 5,050
1/2%84 2,360 2,530

F—UIWNR b=V RFA4vYT REYY

74 7L —Fh
ShiE AR (F) BB | Sk e ffid (F3) Bt 51
AR 4,720 5,050
1/2% 2,360 2,530
AF¥F—T7L—F}
ShiE AR (F) BBl | Sk e ffid (F3) e 51
HAR 4,500 4,820
1/2% 2,250 2,410
T4 vTF= Uy RS —F
ShiE AR (F) BB | Sk e ffid (F3) e 51
HAR 4,500 4,820
1/2% 2,250 2,410
anN—7L—Fh
ShiE AR (F) BB | Sk e ffd (F3) e 51
AR 4,720 5,050
1/2% 2,360 2,530
Lo7IIL7L— bk
ShiE AR (F) BBl | Sk e ffd (F3) Bt 51
HAR 4,500 4,820
1/2% 2,250 2,410
kv 7L —Fh
ShiE AR (F) BB | Sk e ffd (F3) e 51
HAR 4,500 4,820
1/2% 2,250 2,410
Tz L— bk
ShiE AR (F) BBl | Sk e ffid (F3) Bt 51
7 FEARR 9,450 10,900
ZadA—+— 11,350 13,100
EF+7L—h
ShiE AR (F) BB | Sk e ffd (F3) e 51
7 FEARR 9,450 10,900
ZadA—+— 11,350 13,100
AyY 7L —F
ShiE AR (F) BBl | Sk e ffid (F3) Bt 51
EAR 5,560 6,400
J—7+— 6,670 7,670

Hho— SiE AT (F) BBl | e s (F) BB
ety EAR 9,980 11,280
ISR V725 2,730 3,090
g, A—F— 17,850 20,170

o B 3,170 3,580

I—F—%EB 3,770 4,260
XEBE - O—F—EBOH
TrT7TL—k

SiE A (F3) B2 31 | e s (F) B2

ZEARR 9,450 10,900
Za—F— 11,350 13,100
TILTFR =

SiE A (F3) Bt 31 | e s (F) B2
FAFFRA L= 4,520 5,200

REY TR =V

SiE A (F3) B2 31 | e s (F) B2
Ay 78—y 9,450 10,700
Ta— b=y 4,720 5,340
N AL 6,100 6,890

12
il (FAK | -c)



RYLTFRA—> FL—F

Yy v TR-Z—

faiE RS (M) FLA | BUE Mg (F) B Al
Yy vFR—&— 8,400 9,660
70— REYFA S

faiE RS (M) FLAI | e Mg (F) K sl

230 26,900 30,100

150 29,600 32,800
AZRETYy o 4+ (BERH)

faiE RS (F)FLR! | BUE Mg (F) B sl

Bl AR 12,100 13,450

B o —F— 18,000 20,000

77747y F4 L (BaEH)

maiE A (F) BER! | SE i (F) B Al
AR AR 7,400 8,150
e 8,320 9,200

FTUIRT Yy BS54+ (BEH)

fRiE = RS (F) Kl | S mAS (F) AR
=LA TH— 4,780 5,450
600x300 | T/MF-RTAL 4,780 5,450
20H% A 7 /;j;l;bw/? 5,160 5,880
g5y s 5,160 5,880
N—)LfTA— 2,390 2,730
30007 SLF—KRTA b 2,390 2,730
20H% A 7 /;j;l;bw/? 2,490 2,840
BN 2,490 2,840
30007 SILF—KRTA b 11,120 12,680
2ynsq7 L0 10,900 12,430
ARJITRAN=Y EFYAY
fRiE = RS (F) Rl | M (F) BB
NR=Ya23ysR 13,900 15,850
EYA U144 SE——
7 — AR
Nt TSy s 16,900 19,270
N=Pa3ys2 12,350 14,080
EYA025 A T
7 — AR
e, 16,230 18,500
NR—Ya23ysR 14,650 16,700
AL v &—48 S
NPy 17,850 20,350
Nary7Uyy 74+~ BEFH)
fRiE RS (F) Rl | S mAS (F) AR
B ELARY 12,700 14,600
B o —F— 18,900 21,700
FILETY o 54+ GEAH)
fRiE RS (F) Kl | S mAs (F) BB
B ELARY 12,700 14,600
B o —F— 18,900 21,700
PURTYUy T ZA4+ (BEEH)
fRiE RS (F) Kl | S mAS (F) AR
B R AR 7,060 7,800
Bt —+— 8,320 9,200
JYIRTZTY vy RBM - A4 b (BRI
= fRiE RS (F) Rl | S mAS (F) AR
B R AR 8,050 8,900
F S
B o —F— 12,320 13,550
N B R AR 8,430
=5 Bt —F— 12,920 BE

13
fEitER (@AK | -c)

0o — S | A () B S e () B
gorTsey | BHEAR 8,050 8,900
yors—s  BEMa—t— | 12320 13,550
BE b AT 8,680
OO mpa—r— | 13,280 RE
ey, | EMEAD 10,400 11,450
Bba—F— 15770 17.350
TVIRT Yy TUTVy s - T4 b (BhafE#H)
05— S | A (B S e () B
T B AR 8,050 8,900
A d=4
ZYUF =32
70T wMa—r— 12,320 13,550
: BE AT 8,680
TUBRTAR a—F— | 13.280 RE
A B AT 10,400 11,450
TVTIYT eba—F— 15770 17.350




e R

Za—FRAT AFH-—
niE 77 = A () e Bl | e s (M) Fi Bl
osolg 1,000 1,050
& —a-— l~ ES —7 1,100 1,160
KIA = RAT
niE 77 = A () e Bl | SCE s (M) Fi Bl
7RY, 7RV, FUYE 2,300 2,420
30001 soye 2,520 2,650
Y. save. FYHE 4,600 4,840
600300 soye 5.040 5,300
say. savE. FUHE 5,180 5,450
4500 soye 5,670 5,970
saY. savE FYTE 9,200 9,680
6000 soye 10,080 10,600
sRY. saye. FYHE 10,350 10,890
900450 soye 11,340 11,940
sRo. savE. FYHE 13,800 14,520
900600 soye 15,120 15,900
saY. savE FYTE 18,400 19,360
1200600 2 o 20,160 21,200
TI—HR—K—
niE RS (F) Rl | S mAS (F) AR
300 % 50 X 60 143 150
T —=HRAT
niE RS (F) Rl | S mAS (F) AR
300 % 300 X 60 780 820
600 % 300 % 60 1,560 1,640
HIVLR b=V
niE RS (F) Rl | S mAS (F) AR
555 % 300 X 50 1,190 1,270
d—F—/8—2 1,580 1,690
J—F——v4 1,960 2,100
RILRETY
niE RS (F) Rl | e M (F) BB
210 % 150 X 40 239 256
150 x 150 X 40 171 183
150 x 100 x 40 114 122

2 NS — | A ()RR K m (R B
i 1,840 1,940
0L e, 2000 2,100
T, 3,680 3,880
600%300 %, 4000 4.200
o 4140 4,370
0L s, 4500 4.730
Sa-bTyval Sl KT 5’520 5’820
90x300 s, 6000 6,300
Sa—bTyval Sl KT 7’360 7’760
600L L t4—s 8000 8,400
T, 8,280 8,740
900>450 s, 9000 9.450
e 11,040 11,640
900x600 e 12000 12,600
S 11,040 11,640
1200450 e, 12,000 12,600
e 14,720 15,520
1200600 e 16000 16,800
AF¥—~(47
2 Ho— A (BRI K m (R B
w0 R4 7V 1840 1,940
sax 2.160 2,270
s04. 7Y% 3,680 3,880
600300 SN 4,320 4.540
s 7Y% 7360 7,760
6000 o 8.640 9,080
s04. 7Y% 8280 8,740
900450 SN 9.720 10,220
sox. 79 11,040 11,640
900600 SN 12,960 13,620
T5—HA =
S AR RA R () B
555 %300 x50 1,197 1,257
aA—F——V2 1,590 1,670
aA—F——V4 1,970 2,070
TT—HTV o
S AR B R () Bl
233%x116.5%60 231 243
116.5%116.5% 60 220 231
AN LA T
SE | AR Re R () Bl
300 %300 x40 770 820
600 x 300 x40 1,540 1,640
300 % 300/N2H £ 1,100 1,170
600 x 300N 3 k15 2,200 2,340
FLRF1—7
SE AR R R () Bl
110x110x40 92 99

14

fiit&sk (FEEE-c)



15

HyF7Uw o TI2TRAT
Ry APAEAS () KL B | S5UE flAE (F) B Bl SRiE RIS (F) Fi5) | SUE M4 (F) KL Bl
210x150x40 249 266 300 %x300x40 770 820
150 x 150 x 40 178 191 600 x 300 x40 1,540 1,640
150 x 100 x 40 119 127 300 300/ 2T L1 1,100 1,180
600 x 300/\CI3EH LIS 2,200 2,360
Rey— X797 Za—b+RTYT
fpiE h7— ARG (F) BE 51 | BE A (F3) B Bl SRiE h7— RIS (F) Fi 5! | SUE M4 (F) KBl
T Samb7yval Sum AT 9,900 10,400
Es7e0Gms 2y b 2,220 2,330 45000 —a—FR—7 10,600 11,200
LI LARTA 2.330 2,450 TALET Y H—t v b — 310 330
”j‘ijj “’j:" T v h—FDAE — 1,500 1,580
Esse0Gms =z b 1,260 1,320
FLITLATA b 1,320 1,390
ol KNAL—2 2T 7
ES-T-60(E> a v k)| o o 1,350 1,420 SRiE h7— RIS (F) Fi5) | SO M4 (F) KB
FLITLATA b 1,410 1,480 45007 sny. snvE FUYE 10,600 11,130
S s 770 810 cave 11,340 11,910
ES-5-60(1@> 3w b)| oo \ AL T > h—t v | — 310 330
FLITLARTA b 810 850 T v h—FTAE — 1,500 1,580
R FE250
GniE RIS (F) Fi5) | SUE M4 () KBl
R FE250 7,140 7,500
IV IV RRFy S 2=y b
fpiE ~_RA TR = APAEAS () Kt B BUE A% ()31
KIWVA L= sAv, saYdE
3ERW900 ¥ — 7V, 7AX 166,700 183,400
LAYFRb—> 183,400 201,800
KIWA k= sAv, saYdE
3EEW1200 ¥ — 7V, 7AX 183,400 201,800
LAYFRb—> 204,000 224,400
KLIWVA L= sAv, saYdE
2E8W900 ¥ — 7V, 7AX 130,000 143,000
LAYFR b= 143,100 157,500
KLIWVA L= sAv, saYdE
2E8W1200 ¥ — 7V, 7AX 143,100 157,500
LAYFRAb—> 157,400 173,200
FHA L —IL Ry RFZ7Ly IR
Ry APAEAS () KL 51| S5UE flhAE (F) BBl SRiE RIS (F) Fi5) | SUE M4 (F) BBl
RO TTERAT 43,200 47,600 RYFT7Ly o2 2,000 2,100
Z2A—=7%4F 43,200 47,600
TV TR= by TUy T R=2
Ry APAEAS () KL 31| S5UE flAE (F) BBl SRiE RIS (F) Fi5) | SUE M4 (F) BBl
3EYav baAT 1,980 2,180 LS 24T 690 760
BE3ES 3 F 24T 1,640 1,800
NSHNA 7Ly o R
Ry APAEAS () KL 31| S5UE fMAE (F) B B
1L 2,250 2,480
4L 7,190 7,910
18L 17,600 19,360

fifitéx (FEHAI-c)



TOYO YaAHrF4

TOYO YaAH#» K5

faiE RS (F)FLA! | SUE Mg (F) B Al
R— 2,100 2,250
BT — k
faiE RS (F)FLA! | e Mg (F) KAl
B — k 39,000 BMEHL L

VERAT TTy hRAT

RiE A (F3) BB | S Mt (F) A 31
74 +JL— 2,100 2,250
TOYO YaAHr R -n—F

RiE A (F3) BB | S Mt (F) 31

N— 2,780 2,970
I5Iv Fl— TT9 3,330 3,560
L/ R—&—

RiE A (F3) B B0 | S s (F) 31
300 x 75 x 60 160 170
TPy ERALAT Yy b &ZAS

RiE A (F3) BB | S Mt (F) A 31
300 % 300 X 60 630 680
KISEKI ¥R <ILFHhT7—KAS

RiE A (F3) BB | S Mt (F) 31
300 % 300 % 60 1,160 1,240
JyAZFRAT

RiE A (F3) BB | S Mt (F) 31
300 % 300 X 60 780 840
300 x 150 x 60 390 420
TR nNAT Yyl

RiE A (F3) BB | S Mt (F) A 31
552 N ATy o1 485 510
UHER/ X —"Y 400 420
TR NATY Y IiR—&K—

RiE A (F3) BB | S Mt (F) 31
SIR ATy o Rt — 315 335
L RLKT-20

RiE e (L x W x H) | A< fs (F) B2 3 | e (s () %t 31

LKT-X 133x133%28 6,700

LKT-T 133 %133 %28 6,700 WELL

LKT-E 68x 133 %28 6,700
70— bk

RiE A (F3) BB | S Mt (F) A 31
300 % 300 X 60 690 N
600 % 300 x 60 1,380 WEL L

mRiE A (F) e 51l | SUE s (F3) BB
300 % 300 %60 630 680
KISEKI #BH ~N—XHhT7—%A47
mRiE A (F) e 51l | SUE s (F3) BB
300 %300 %60 1,160 1,240
600 x 300 X 60 2,320 2,480
ToUFRAT
mRiE A (F) B 51l | SUE s (F3) B 5!
300 %300 %60 810 870
vr— KA TEX
mRiE A (F) B 51l | SUE s (F3) B 5!
300 % 300 %60 950 1,020
5 ZEfT—=Y (TF7 v k)
mRiE A (F) e Bl | SUE s (F3) B 5!
=Y s 785 900
AR R—H—
mRiE R < W x H) | A (F9) 2 5l | SUE Mt (F) BBl
LKG-SXZ!
LKG-SIZY 110x110x45 16,700
LKG-STZ! ~
LKGSP-X WEL L
LKGSP-I 120x120%x63 13,400
LKGSP-T
77 RAR—&—
mRiE FRAE SR (L X W) | A (F) B 31 | oE s (1) B2 31
1,000 x 46(Z & 16mm) 9,200
1,000 x 94(Z & 16mm) 18,300
U5 RFE—H— | 1,000%122(5716mm) 23,000
(URE104AY) | 1,000 x46(EBH40mm) 14,500
1,000 x 94(Z &40mm) 28,900 WEL L
1,000 % 122( 740mm) 36,500
SRS - 3,400
7L
mRiE A (F) e Bl | SUE s (F3) B 5!
300 % 300 %60 630 670
600 x 300 X 60 1,260 1,340

16
e @AK | -c)



NA Ty 4

aniE A (F) BL B | SUE s (F) BBl
200 x 100 x 60(ER-1-60) 138 148
100 x 100 x 60(ES-1-60) 72 17
200 x 100 x 80(ER-1-80) 156 168
100 x 100 ¥ 80(ES-1-80) 78 84
SBHA100E 2,040 BEE
AmEfEE 205 220
NA =Ty oS HBEME
aniE A (F) BL B | SUE s (F) BBl
200 x 100 x 60(ER-1-60) 126
100 x 100 x 60(ES-1-60) 66
200 x 100 x 80(ER-1-80) 154 FE
100 x 100 x 80(ES-1-80) 17
AR T) o RAT
= aniE A (F) BL B | SUE s (F) BBl
S 198 X 98 X 60 205 220
N . . 98 x 98 %60 205 220
Yyl Fa—XxX .
AR 220 235
. . 198 X 98 X 60 245 260
ST T 9 % 98 % 60 245 260
SRARSY—L \\
ANSE: A5 270 290
NayTYy IR—&—
GniE A (F) BL Bl | SUE s (F) BBl
200 x 60 x50 300 350
ARNT vy AT
GniE A (F) BE B | SUE s (F) BBl
HoARR 475 525
TITT4T7 )y RAT
GniE A (F) BE B | SUE s (F) BBl
HoARR 470 520
TUVIRT) v YNT-RAT
GniE = A (F) BL B | SUE s (F) BBl
SN 440 485
HAE -
FTA R 465 RE
77y 565 625
T4 T =Ty F R ==
GniE A (F) BL B | SUE s (F) BBl
300L 2,000 2,100
450L 3,000 3,150
600L 4,000 4,200
900L 6,300 6,620
1200L 8,300 8,720

IJLIILAR—K—
fniE S (F) BBl | SUE S (F) BBl
300 x 75X 60 158 168
NA - TYUwy 6
fniE S (F) BB | SUE S (F) BBl
200 % 100 x 60(ER-1-60) 116 128
100 x 100 % 60(ES-1-60) 61 67
200 % 100 x 80(ER-1-80) 144 160
100 x 100 x 80(ES-1-80) 72 80
RNAG - TYUyg AT
fpiE S (F) BB | SUE S (F) BL Bl
198 x 98 x 60(ER-1-60) 195 210
98 % 98 x 60(ES-1-60) 195 210
PUmBE & 275 295
)L N
fpiE S (F) BBl | SUE S (F) BBl
528 x 108 X 37 3,110 WELL
RA Y hIR—&—
fniE S (F) BBl | SUE S (F) BBl
200 x 60 x50 300 350
FINETY o AT
fniE S (F) BBl | SUE S (F) BBl
AR 545 625
YURT Iy AT
fniE S (F) BBl | SUE S (F) BBl
AR 445 490
FFaTITy RRAT
fpiE S (F) BBl | SUE S (F) BBl
300L 1,500 1,580
450L 2,250 2,370
600L 3,000 3,160
900L 4,500 4,740
30001 2,000 2,100
600 % 300 4,000 4,200
900 x 300 6,000 6,300

fifitéx (FEHAI-c)



ATy A=~

Bl | ()R R ()R
300x 100 1,000 1,050
600 %100 2,000 2,100
LAILRY —/R— RAT
2l | AR R ()R
300L 2,000 2,100
450L 3.000 3.150
600L 4,000 4.200
900L 6.300 6.620
1200L 8.300 8.720
NRILTGRA k=
218 o= A () B e () B
RT7A b 2,230 2,560
300%300%30 =2 2.750 3.160
F7A b 2.230 2.560
600>150x30 ==~ 2.750 3,160
F7A b 4.440 5.100
600%300%30 == 5,470 6.300
F7A b 8.880 10,200
600x600x30 =" 10,950 12.600
F7A b 36.800 42.400
900>450x80 o 44,300 51,000
F7A b 46.300 53.300
900x600x50 == 57.200 65.800
F7A b 60,700 69.800
120060050 ——— -, 76.300 88.100
vy JAL—F
Bl | AR R () R
A (1) 13,650 15,400
29057 1,590 1,800
QEHF 3310 3.740
70/ A k=
o RE A& (F3) BBl RE A& (F3) BBl
S IR =L
1400) 460 530 585
200 % 140 660 760 840
260 % 140 850 980 1,080
Yo 2,200 2,530 2.660
vyan 340 415 440

M023FEE LV 7T v o 7T TRlffig &Y £9,

TIT/ X k=

TArT=7y K R_AT
fRiE RS (F) Kl | S M (F) AR
30000 2,000 2,100
600 % 300 4,000 4,200
900 % 300 9,240 9,710
1200 x 300 12,290 12,910
LALRY == RAT 54k
fRiE RS (F) Rl | S mAs (F) BB
300L 1,430 1,500
450L 2,150 2,250
600L 2,860 3,000
900L 4,300 4,500
LAY TR b—
fRiE ${$ﬁ$§( YRR | M (F) AR
30000 2,680 3,000
600 x 150 2,680 3,000
600 % 300 5,310 6,000
60001 10,600 12,000
900 x 450 11,950 13,500
900 x 600 15,800 18,000
1200 x 600 43,800 50,000
*roan 1,960 2,280
= 330 395
2THE>an 710 850
SBAE 3,310 3,830
AL (1nl) 14,000 16,100
A (10m) 130,000 149,500
L7 X b=
fRiE ${$ﬁ$§( YRR | BE A (F) BB
300 x300x40 2,250 2,570
600 %300 x40 4,460 5,090
1200 x 600 x50 53,500 61,000
FY /2y o R
fRiE RS (F) Rl | S M (F) AR
aE (1m) 16,900 18,600
#E (10m) 162,000 178,200
100IE5F 6,150 6,770
IILRR b=
fRiE ${$ﬁ$§( YRR | SE A (F) AR
2900 2,040 2,330
590 x 290 4,040 4,610
FHey b ($0.4m) 9,000 10,260
RILT A b=V
fRiE = RS (F) Kl | S mAS (F) AR
1400 777 v MIX 390 445
200x140 777 v MIX 560 640

faiE RS (F)FLR! | BUE Mg (F) B sl
1400 450 515
200 x 140 635 725
TIVINZ k=
faiE RS (F)FLA! | e Mg (F) B Al
3000 1,630 1,880
300 % 600 3,260 3,750
rran 390 450
2THr >y a0 780 890
E(1nt) 11,800 13,600
#HIZ(10m) 107,000 123,000

18
e @AK | -c)



19

FALRA =V

RILTTRAb—> TL—F

faiE Hh7— RS (F)FLA! | e Mg (F) R Al
SN—JLfTA— 4,780 5,450
600x300 | TNF-ATASL 4,780 5,450
SRR
J0H% A 7 /:,_;#\7:]\7 5,160 5,880
LT 5160 5,880
SN—LfTA— 2,390 2,730
30007 VIILF—KTA b 2,390 2,730
SRR
20H& AT /:,_;#\7:]\7 2,490 2,840
LT 2490 2,840
30007 VILF—FKTA b 11,120 12,680
2yngq7 L0 10,900 12,430
F—IINR b=V TT—LA
faiE RS (M) FLAI | e Mg (F) K sl
& (1m) 10,200 11,300
i (20m) 186,200 204,800
F—IO IR =T —HFTL —
Hh7— SRiE RS (M) FLAI | BUE Mg (F) B sl
AR Q) 14,300 16,000
TTT7VT g (o) 131,800 147,500
F—O IR =Y N—Evy
faiE RS (F)FLR! | BUE Mg (F) B sl
i (1) 16,300 18,400
I (10m) 160,600 181,500
90IE AT 4,530 5,120
190K A 4,530 5,120
190IE A7 4,840 5,470
F—IILR = T—RETA k
faiE RS (F)FLA! | e Mg (F) KAl
i (i) 17,200 19,800
& (7m) 116,300 133,800
F—JILR b= TI—/
faiE RS (F)FLR! | e Mg (F) K sl
i () 12,800 14,300
I (10m) 119,400 133,700
90IE AT 3,600 4,030
190K A 3,600 4,030
190IE A 3,730 4,180
Bl
faiE Hh7— RS (F)FLR! | BUE Mg () Fial
E5F VETA R/NATA— 2,050 2,360
(=300% =300 =40) VoL — 2’160 2’490
E5F VETA FNATA— 4,080 4,700
(=600x% =300 x =40) V7°[/_. 4’320 4’970

fRiE RS (F) Kl | S M (F) AR
30001 1,500 1,680
600 % 300 3,000 3,360
CwINT A4S A=
fRiE RS (F) Rl | M (F) BB
CHNTFA S A= 9,130 10,500
F—PJIVA =V A RNRZFTH =LK
= niE RS (F) Kl | S mAs (F) AR
em Lk i (Am) 16,400 18,100
TANETAME % (oD 153,000 168,300
FA—OIL R b=V N—)LAfTA—
fRiE RS (F) Rl | S mAs (F) AR
ZE (1n) 15,100 17,100
Lz (10m) 144,200 163,000
90IE AT 4,380 4,950
190K A 4,380 4,950
190IE /A 4,650 5,260
F—OWNR b= R=ILTS5vy
fRiE RS (F) Rl | S mAS (F) AR
aLH (Am) 13,700 15,800
Lz (10m) 128,200 147,400
F—=INVA =Y TRA—=I)
fRiE RS (F) Rl | e M (F) BB
aLH (Am) 12,800 14,300
Lz (10m) 119,400 133,700
90IE AT 3,600 4,030
190K A 3,600 4,030
190IE /A 3,730 4,180
E>an
fRiE = RS (F) Rl | S mAS (F) AR
VAETA R NATA— 265 305
.. VIL—/NEY S 285 330
£~an VoY —>/NLy F 305 350
Eanlf 295 340
N V74 /NA TR~ 530 610
ZTHEY IR e 620 715
N VAETA R NATA— 880 1,010
STHEY A0 e iy 1,040 1,200
PR VETA FNATA— 1,750 2,010
FEYAR e ahig 2230 2560

fifitéx (FEHAI-c)



SHEREEBEARARRAY)

TILF Ak —
fRiE ${$ﬁ$§( YRRl | B (F) AR
100 x 100 x 300 1,350 FEE
100 x 100 x 600 2,680 3,090
100 x 100 %900 4,030 4,640
BB A <3EE E>
fpiE FEHEW x Hx L) | AGflidg () #5251 | SOE s (F) BB
F-2 100 x 100 x 600 2,420 2,540
F-6 120x120x 600 2,880 3,020
F-7 120x 150 % 600 3,330 3,500
JZyaAyy
fRiE RS (F) Rl | SEmAS (F) AR
F—=VH A4 X 3,730 4,110
ZE—ILHAX 3,730 4,110
SILRA =V
fRiE RS (F) Rl | S mAs (F) AR
IR b= 3,480 4,000
FTFaT7 A b=
fRiE $1$ﬁ7f§( YRR | SE A (F) AR
TysR, sORT 3,730 3,920
N 3,330 3,500
=0
fRiE RS (F) Rl | S M (F) AR
EREESEVHLEY ) 12,400 13,000
ES-Aav 2 S
fRiE RS (F) Rl | e M (F) BB
20010050 (ER-1-50) 690 750
NYILT 4 —F
fRiE RS (F) Rl | S mAS (F) AR
3020 6,700 7,400
6320 10,700 11,800
6020 10,900 12,000

aniE A (F) BL B | SUE s (F) BBl
120 x 150 x 600 4,560 5,250
M/ (BIHWNL)
GniE = A (F) BL B | SUE s (F) BBl
MR 78,700 82,500
K - FIMIX BE 68,700 72,100
i =N= 56,100 58,900
MR 3,900 4,100
X BE 3,400 3,570
=N 3,000 3,150
MR 3,900 4,100
i BE 3,400 3,570
i =N= 3,000 3,150
MR 3,150 3,310
N BE 2,750 2,890
i =N= 2,250 2,360
7Ty aRXR =V
GniE A (F) BL B | SUE s (F) BBl
U5y aR b=V 3,250 3,580
IWNTILA k=
GniE A (F) BL B | SUE s (F) BBl
NTLR b= 3,250 3,580
Fry—LoUZ7va
GniE A (F) BL B | SUE s (F) BBl
STy b hT— 1,890 2,080
SrHrhhT— 1,890 2,080
Fov LY EhT— 1,890 2,080
LYyFRA k=
GniE A (F) BL B | SUE s (F) BBl
U7 15,500 17,100
KB 14,300 15,800
Xoft, REB. B, Wi
g wE oy 13,200 14,600
TINTRARAF—v
GniE A (F) BL B | SUE s (F) BBl
3020 6,700 7,400
6320 10,700 11,800
6020 10,900 12,000
) —Z k=220
GniE A (F) BL Bl | SUE s (F) BBl
3020 6,700 7,400
6320 10,700 11,800
6020 10,900 12,000

20
e @AK | -c)



74— b—=210

TINIT Yy ZAI

g AT () B3 | SR Mg () K31
3010 8,400 9,300
6310 12,200 13,500
6010 12,400 13,700
IV R
g AT () B3 | SR g () K31
3000 9,450
600 x 300 9,450 WERL
60001 12,850
L7z
g AT () B3 | R E g () K31
3000 7,350 FEE
T4 TF=T Ty R R —=R=F T
g AT () B3 | SR E g () K31
450H 5,000
600H 6,700 RE
900H 10,000 10,700
1200H 13,300 14,300
1500H 16,700 17,900
1800H 20,000 21,400
1800H (BRHREEN) 20,600 22,100
vIIIVT Ty
g AT () B3 | SR g () K31
YINT Ty 7,700
ABAMIR 600L 5,200 WELL
AR AR 900L 7,400
AF—RK—J)L
g AT (F3) Bt B | BUE s (M) BB
JREAA 23,100 24,800
1800H A 2—KVHB 23,100 24,800
BERL 22,470 24,100
1500H BEAL 19,850 FE
7Ty KIL—/—
g AT () B3 | R g () K31
90[J1200H 15,900 17,600
90[J1600H 19,500 21,400

21
g% (FmAK-c)

aniE A (F) BL B | SUE s (F) BBl
3020 8,100 8,900
6320 10,800 11,900
6020 11,000 12,100
vz
GniE A (F) BE B | SUE s (F) BBl
30000 14,200 15,600
600 x 300 13,900 15,300
HILKZ
GniE A (F) BE B | SUE s (F) BBl
30000 10,700 13,700
1487 11,750 15,000
& FEEX3000] 33,000 42,000
S REER 1480 35,200 38,700
XAREE, A\BEE
LAILRY —/X— Z 7k
GniE A (F) BL Bl | SUE s (F) BBl
450H 5,000
600H 6,700 RE
900H 10,000 10,700
1200H 13,300 14,300
1500H 16,700 17,900
1800H 20,000 21,400
1800H (BIRRAEN) 20,600 22,100
T4 T—=YTy FR—L
GniE A (F) BL B | SUE s (F) BBl
528AH 23,100 24,800
1800H 12—k >HA 23,100 24,800
BERL 22,470 24,100
1500H BERL 19,850 21,300
77—L7xVR
aniE {E#% A (F) BL B | SUE s (F) BBl
500 Sk - AR - O—F— 8,770 9,400
ok (kL - ISR RE s ) 5,460 5,850
B - PRI - O—F—iE 17,540 18,800
900H Bk (koA - &Ry b) 10,920 11,700




77y bL—Ib

1Tk = fRiE 2 & g (M) K5l SUE A (F) B 5l
I 900H 65,700
1200H 67,400
. . 900H 74,200
A N S R Vo 76,900
AFVLAANT FA > 900H 92’200
1200H 96,800
. 900H 107,900
1200H 109,400
.. i N . 900H 127,800 N
A e Y 131,000 WES L
2> obamrosy  900H 155,700
1200H 163,200
. 900H 153,500
1200H 158,400
R L 900H 187,200
SANY TSR o 195,000
b 900H 221,400
1200H 230,800
H—Frivy 05y —KiE H=T>>>9 77y —KIR
fRiE YA X - fERk | A (E) BB | SE itk (F)F 50 faiE Bh T — - Bk | AR FR | SRE Mg (F) B!
N O T=CH A X 104,000 126,000 S _ s TIYv A=
TIIIEAT Az 94,000 112,000 TTITAR S| 14500
o gpsg g T-IFAX 122,000 165,000 AREIR a4 19,000
TRLHAX 103,000 144,000 S—IJH A X T A=y 14 500
oy g | TR D) 277,000 369,000 AER Th—I v RS = '
5—Y¥4Z | 160,000 211,000 7t a4 19,000 S—
— N T A=y
H=To>v 5793 —v>y i 7/;;;& et B
BEK LR fRiE RS (F) Rl | S mAS (F) AR e 24 23,000
Ny )Ly 59,000 IRAYARBARRIR A TRTA b 11,500
RBRFVo vy 28,000 BEh L IRAYAZRARRIR A TRT7 A b 11,500
ez a— vy 29,000 SEASA RS2 LRIR KA )L 19,500
S—Urvy (iR 67,000
SEAvYs RE—HE) 46,000 49,000 H—=Frvo 07y —ky 7S
AFYLAY LY (RE—HE) 67,000 B faiE Hh7— RS (F)F R | e Mg (F) K sl
NytLe >y 68,000 S SN — 11,150 12,100
MBRTF vy 38,000 Wk L 7arvx 17,330 18,200
e a—> vy 36,000 2Ty kT :/;l/n‘—\ 11,550 12,100
S—Uvvy (R 87,000 7avX 17,330 18,200
SEAvys REHD) 63,000 67,000 S Ay T LN — 12,810 13,500
RFYLRYY Y (RAE— A 87,000 RE T7vy 19,430 20,400
H=—FToovy 959 —FTa>
faiE h T — - k| AR FR | SRE Mg (F) B!
Fxv /83 77y 61,000 87,000
O— k728500 77y 61,000 RE
BN H—N— 7592 - FARY — 7,300 11,800
QEAN Y H—N—| 7597 - 7AHY — 7,100 11,800
HN=FTrovy 459 —FT 3>
BB | A (F) B SO i () Bl
K- 2BHRE YT 5,000 BER L
VA—K—Ea— AVER—IL VA —K—Eai— <IaAR-—I
fRiE 1Tk RS (F) Rl | S mAS (F) AR faiE TR RS (F)FLR! | BUE Mg () Fial
e 20 26,000 27,300 . 20 26,000 27,300
A ER—L = 19.500 20,500 VAR 10 19,500 20,500

22

fiit&sk (FEEE-c)



JF—K—Ea1— FIIL
fRiE RS (F) Kl | S M (F) AR
FILILER—IL 26,000 27,300
AT Ry 23,800 25,000
D ARV A
fRiE RS (F) Kl | S M (F) BB
=Ry 22,000 23,100
A —X—Ea1— AR
RS GEES G
aR T R— I 29,200 30,700
AR 15,200 16,000
U —R—bEai— RE—IHAXR—L (S
fRiE RS (F) Kl | S mAS (F) AR
7Yy oE—ILS 33,600 35,300
aAF—YHFE-LS 29,600 31,100

TFx—KR—Ea1— XE—IILHFAX /N (S)
fRiE RS (F) Rl | S M (F) AR

HET Yy 58S 15,600 16,400

AEOF -80S 12,000 RE

JF—K—Ea1— LAIILR—/—
fnis S (F) BBl | SUEMEAE (F) BBl
LANLZRY —/8—R—)L 31,100 32,700
LALKR—IL 31,100 32,700
RN ==X 12,000 12,600

Jx—X—Ea1— FILIL BEEEY
faiE RS (F)FLA! | SUE Mg (F) B Al
BEetey b 88,000 98,000
Jx—K—E1— Tal—
faiE RS (F)FLA! | BUE Mg (F) B sl
TyalU—FK—uL 50,000 &
VF—K—Eai— TvX
faiE RS (F)FLR! | BUE Mg (F) B sl
qv XE—)L 35,300 37,100
NE Dy g
PN 14,700 15,500
Tr—R—Eai— FT—IHYAXR—1L (L)
faiE RS (F)FLAI | BUE Mg (F) K sl
Ty oFE—LL 47,000 49,400
aAF—YR—L 43,000 45,200
Tr—R—Eai— T—IHYAX v (L)
faiE RS (F)FLR! | BUE Mg (F) B sl
R 18,300 19,300
HEIF DL 16,900 17,800
ARy v L 18,300 19,300
ARaF—IsvL 16,900 17,800
VA—R—Ea— TarT—7v R
faiE RS (F)FLA! | e Mg (F) B sl
Fa Ty FRY = 311100 32’700
TAvF =y FR—L 31,100 32,700
A —s8—s8 12,000 12,600

23
fEitER (@AK | -c)



VA —R—Eai— FrARKR—IL
fRiE S (F) BBl | SUE S (F) BBl
F v X FFE—-LS 28,200 29,700
F 4 Z bR—LL 41,700 43,800
JA—KX—Ea1— FyRbsSY
fRiE S (F) BB | SUE S (F) BBl
BAE P2 RS 15,600 16,400
BAEF v R bSL 18,300 19,300
A v 2 R SUS 13,400 14,100
HAF v R bSL 15,600 16,400
AT Ry 23,800 25,000
JH—KX—E1— [ERR/NV
fRiE S (F) BBl | SUEMEAE (F) BBl
a— 23,300 24,500
Ry 25,600 26,900
sa—y— 26,200 27,500
TF—R—Ea1— XTI
fRiE S (F) BBl | SUE S (F) BBl
AT IRy 23,800 25,000
AR T 28,900 30,400
H—Frvy iy
fRiE S (F) BBl | SUE S (F) BBl
fgess v /8 36,700 44,600
RFVYV IS 48,300 50,800
E— LRV F
fRiE S (F) BBl | SUE S (F) BBl
12004 7' L-400H 57,500 61,600
10504 7' JL-400H 56,500 60,600
9004 7 L-400H 55,500 59,600
12003 > &' )L-400H 31,300 33,500
9003 > ' JL-400H 30,300 32,500
12003 >~ %' )L-650H 34,400 36,900
9003 > %' L-650H 33,400 35,900
H—=F vy b
fniE AR S (F) BBl | SUEMmE (F) BBl
. o By L 15,500
SNVIBSE L eray 17,000
A0S B L 29,000
B b 30,000 EE
- B L 20,000
ERHY 21,500
. e By L 36,500
NLnyvJ105H R 38,000

JH—X—E1— KXyTFTU-—X
faiE h 77— AR | AR ()RR | e g (F) B!
Tq ay T TS TAAE 6,410 6,700
Ty R TRV HTFUT Iy 8,510 8’900
LN — 4,030 4,600
#xy 7 VAR 8,480 8,900
7oy 8,510 9,400
s Sbs— 5,740 6,000
ooy omsy | AIE 9,700 10,700
VA=A 10,190 10,700
ey 7 SN— - T— R 7,980 8,400
(T7ET2—1F) 2y TRV - H TV TSy s 101080 10,600
s SN — 9,010 9,500
XFEEYT ST 9,240 9,900
Ry 7 | xan opns, Ac 12,590 13,200
PELY T = 5,800 6,100
HeFoiy7 P70 9480 10,000
SR — T—=JLR
R4 L= 10,280 10,800
. SN — 4,820 5,300
RES Y7 S F 9,400 10,800
VAN — 12,090 12,700
o s s SN — 10,280 10,800
IAYEIT S uF 11,240 12,900
Y—ETL AV bEYT - 17,450 18,400
e L= 6,000 7,200
gz 7 SR 9,400 10,300
- e TN Ik 8,190 8,600
TATNRZT T ooy 10,290 10,800
- - LN — 8,940 9,400
FUREYT STy 9,730 10,400
ZhL— b bs— 6,090 7,100
o R S N 5,880 7,100
AT 2 = 6300 7,300
Va=P3$=Ey S 5,990 7,300
K777 — 1,110 1,170
2977874~ (B) eSS 1,550 1,630
sakEE (B) eSS 1,550 1,630
L S — 42,280 44,400
e N LD 31,190 32,800
R —=/R=RVF
faiE RS (F)FLA! | e Mg (F) B Al
Y —s8— 27,600 29,600
T IN— 43,900
74K 54,800 BE
LANRY —/— FOw TS
faiE RS (F)FLR! | BUE Mg (F) B sl
FRfEE 2,940 3,150
a—+—# 2,940 3,150

24
il (FAK | -c)



25

T4 Ty R oy

Fy o7 7U—FR—L

aniE ARG () B all | BE M (F3) BB

Ry s 7y—F—n 46,000 47,500
2Ty = 1,170 .
Ay TFAYTI— 780 WES L

Dex /X—F> 770y 7

GniE A () B pll | BE A (F3) Fe 5!
Dex/S—%> 7 7Ry Y 7,100 7,600
Jy R/—F2 7

GniE AR () B pll | BUE A (F3) BB
Ay Es—F Y 5,460 5,850
TR R kys—

GniE A () B pll | BE A (F3) BB
S52 - Z Ryt 4,030 4,320
IVEIVRIAL VKL

GniE A () B pll | e A (F3)Fe B!

Y& L 28,200 29,600
TA—ILT4+ LEDVU—X

GniE AR () B pll | BE A (F3) Fe B!
E—2o24+F 16,800 .

E—254 k74K 19,800 WES L
EYa2-TA b 31,200 33,100

IAF4 10,600 13,000

IO 18,900 21,000
LED#—L 54 F 22 20,000 20,400

L& 21,200 21,400
SUTRULT I b 34,200 35,600
sUTRIYT Iy HTFR) 441000 51,000

AN = 31,700 37,100
NRZUT 36,700 42,200
NE 7 onN— 41,200 47,000

7774+ LEDY—=5—54F

fniE S (F) BBl | SUE S (F) BBl
T 4,580 4,900
a—F—# 4,580 4,900
Dex #4270y
fpiE S (F) BBl | SUEMEE (F) BBl
Dex #4700y 12,600 13,500
Za—btnR—F2y
fniE S (F) BBl | SUE S (F) BBl
Za—bR—=F2T 5,460 5,850
RN —/X—=X—F
fnis S (F) BB | SUE S (F) BBl
B=ERAT 5,460 5,850
Ry RI7Lvy o R
fnis S (F) BBl | SUE S (F) BBl
Ky FT7Lv o2 2,000 2,100
H—F>Z4 b+ LEDYY—X
fnis S (F) BBl | SUEMEAE (F) BBl
sUTTUYSA k 29,000 29,900
SUTIUYIA L 5 41,000 45,500
Ty 774k 16,600 18,800
FuTSA T — FE) 17,600 20,900
V—7—LEDAZRT7Oy Y
fniE S (F) BBl | SUE S (F) BBl
Y—5-LEDHZ 2702 30,000
’ f~
V=5 —LEDRALK 7 2 4,950 MELL
70774+ LEDYVU—X
fniE h7— S (F) BBl | SUEMmAE (F) BBl
552 K54 F(12V) BIREE 22,000 26,000
75> F54 k(100V) BIRE 29,000 32,200
Ry FEv R — 3,600 WELL

fifitéx (FEHAI-c)

faiE RS (F)FLA! | e Mg (F) KAl
LEDY —5—54 35,300 39,600
LEDY —5 — 257 v #t 6,500 6,700
7Y —
faiE RS (F)FLR! | e Mg () Fisl
A—RILk k5> R3BW 16,000 21,100
FS4a—vafEA 1,820 2,240
FS4a—~10A 3,630 WEL L
3— K5m 2,420 2,860
a—KF15m 5,400 7,400
A—hRIL kT RREV R 9,460 9,650
O—RILh TR TY Y 1,210 N
PrvrovavikRy R 4,070 WES L




A+ X

Ry A (P A2 81 | BUE s () BB
avksq47 gHEm 206,700 215,500
avRa47 ®meE 222,700 231,500
A N 29,700 WELL
aVREA T — R 28,900 B
TOLREAT REAME 170,500
7oszs47 wHm 186,600 WERL
A N 29,700
ARZR—)L

Ry AT (P A2 81 | BUE s (F3) BB
ARZR=IL 37,600 R
ZRFRE—ILT A F 78,700 WES L
] Ve

Ry APEAE (P A2 81 | BUE s (F3) BB

T 91,100 98,500
F—L¥—IL 5,500 WERL
I

Ry APEAE (P A2 81 | BUE s (F3) BB

D s 80,100 86,900
ANR—H— 2,700 2,950
FHA > TL— b 20,100 24,300
F—L¥—IL 5,500 WEHRL

7/

Ry AP (P A2 81 | BUE s (F3) BB

U7/ 60,800 66,400
LR

Ry APEAES (P A2 81 | BUE s (F3) BB

LyR 55,500
FHALTL— (7Y 14,400
SR (YT ) 2,350 WELL
FHATL— (T F) 17,300
FHALTL— R (ATFA) 16,700
O£&MSHY

Ry AT (P A2 81 | BUE s (F3) BB
O£&MSH! 1B-12 43,900 47,400
HO£&MSH! 2B-15 65,000 70,200
r7

Ry APEAE (P A2 81 | BUE s (F3) BB

Tt+7 59,300 63,900
IT47yF

Ry APEAES (P A2 81 | BUE s (F3) BB
IoF47y R 44,000 47,500
e/

Ry AP (P A2 81 | BUE s (F3) BB

= 56,900
FEREXZY R 32,500

&4 LR 1,900 BEE
Ty xXF 4,800
r—L—I 5,500
E7vAh
Ry APEAE (P A2 81 | BUE 4 (F3) BB
E7 > h 40,400 WERL

J a4
faiE RS (F)FLA! | SUE Mg (F) B Al
Y/ A=FN 129,400 134,600
aL b
faiE RS (F)FLR | BUE Mg (F) B Al
aL bk 56,800 61,400
I XA —)b
faiE RS (F)FLRI | BUE Mg (F) B sl
I A=) 67,000 X
HAr 14,000 WEL L
HILF
RS (F) BB 29,800
wEMmE(HE  WERL
HIi— bk
VA% 45,400
RS (F) BB AEN 48,300
BIR(TT>) 20,000
Va4
B AR (F) BB 7y R WEL L
BIR(TT>)
7 4P RVL
faiE RS (F)FLA! | e Mg () K sl
7 A Y RVL 54,300 RE
IJ7T4
faiE RS (F)FLR! | e Mg (F) K sl
IoF4 32,500 35,900
AYLREZVE
faiE RS (F)FLAI | e Mg (F) B Al
ZAYLZREVR 28,500 29,700
- U =z
faiE Hh7— RS (F)FLR! | BUE Mg () Fial
TRTA b 37,200
7 U X TSy Kk TA L WEHEL
TL— =0T 5y 44,700
2T
faiE RS (F)F A | e Mg (F) B sl
LT 41,000 44,000

26
e @AK | -c)



7xAHY R

faiE Hh7— RS (F)FLA! | e Mg (F) R Al
Taa9z 590k 83,600 90,300
SR— F LY 80,700 87,100
R Ty b ”“\/jﬁjj;\/\ 80,700 87,100
SR— F LY 77,600 83,800
VP — 14,500 BMEH L

a—anNyJ

SRiE ARG () B pll | BUE A (F3) BB
I—Aany s 61,800 66,800
YA 25,400 WEL L
Ry
SRiE ARG () B pll | BUE A (F3) BB
Ry 30,300 WEL L
7ILE
SRiE A () B pll | e A (F3) Fe B!
TILE 63,800 69,100
BERAN—X 18,800 20,400
=N
SRiE A () B pll | BE A (F3) Fe B!
YK AVRS R EAT 81,700 88,200
AVR IRLEA TR L 971000 104,800
VR T EARAT BB 111,000 120,000
Rl 29,500 31,900
R —
AGAEAE () Kt 51 22,300
wEMmEFE)HRE  SBMEL L
U= L= by b
11 25,000
AR (F9) B 31 et T 26500
1
== f*
S DB WEL L
7L b
AGAEAE () KL 51 23,100
wEMmEFE)HR  SMEL L
DA A E SN
10XF% T 31,600
At (F) BB BNXF 1XFH7 Y 2,700
N 10XF% T .
SEMEFARA T BERL
T4l
ZbhL—brq47 35,000
AR (F9) B 31 SRR 40.000
AbL—t&47
= f~
WE@SEERE DS BERL
LA
AAEAE () Kt 51 19,500
wEMmEF)HRE  SBMEL L
XZ /N
AGAEAE () Kt 51 18,800
wEMmEFE)HRE  SBMEL L

ANRZT ARV
g zwz&fmﬁ( VBB BUE S (F) B
Z2RFZZVR 32,200 MER L
2 ) 7 RFF
g AT (F3) BB | BUE s (M) B3
2 7 ZAFF 27,000 29,200
YA 19,700 BEL L
RZAY w2 KRR b
g AR (F) BB | BUE s (M) #E 3
XAy L aKR b 18,000 WELL
70
g AT (F3) Bt B | BUE s (M) B3
7oA 25,300 BELR L
7OLR
g AR (F3) BB | BUE s (F) BB
7aLR 69,600
’ f~
BER~—2 13,800 WEL L
voeRY—
S (F) BB 22,300
wEMS)HR  WELEL
vk —FL—kty b
1% 25,000
AT (F3) BB ity T 26,500
1
= l'"lfw
BEMEE BB BEL L
I+ 0
A& 29,000
HwEmEHR  WEKL
VA X
RS D] 1XFHizY 7,700
HEME R 1XFH1Y WELL
SN
6XFET 44,500
AR (P23 BINYF 1571 6,900
- 6XFET i
SEMEFBRA - T BEHL
LaF
S (F) BB 26,000
wEMS)H  WELEL
LAv—F
P 29,800
AR (F3) BB =gy 9.800
SRR BEh L
THA =y

fifitéx (FEHAI-c)



HILF
A () B 31 29,800
wEME)HI  WELEL
SAT4E
A () B 31 29,600
wEME)HR  WELEL
RLZR
A (F) B 31 26,700
wEME)HR  WELL
7T
A (F) B 31 31,300
wEMS)HR  WELEL
75—/
0147 31,300
| ,
AR (F) B3 200 57400
N 0147 e
B A4 (F3) e 51 W200 HEHL
AN
A () B 31 25,300
wEME)HRI  WELEL
L—7F
A (F) B 31 35,600
wEME)HRI  WELEL
Ny
ATFvLR 27,300
AARE (F) B 31 e i 30600
— AFVLR e
SEME(FBRA T~ BESL
T4 TR
0110 31,800
AR (F) B 31 150 34300
- 0110 e
AT (F3) 2 51 150 WEHL
FI<
0130 22,300
| ,
AR (F) B 31 10 20,000
- 0130 —
B A4 (F3) e 51 105 HEHL
AP
A () B 31 24,700
wEMS)HR  WELEL
;]
A () B 31 52,500
wEMS)HRI  WELEL

ARG () B3I 29,800
HwEmEHR | WELL
RIS
ARG () B3l 29,500
HEmEHR | WELL
>0
FHA >-01 31,200
A () B 31 =0 33,400
THA-01
= f~
WS (F) R8I A0 WELL
P
-
A () B 31 '
TIVIRTYLR LJ130 24,500
0147 25,400
azvLa o OI0
W S (F) B 31 130 WELL
TS5y IRATFVLR
147
AL X
150 25,800
A () B 31 200 26,400
150
= f~
W MAE (F) R 81 200 WELL
n—7z
130 27,300
A () B 31 S1%0 28,900
130
= f~
W S (F) B 51 S1%0 WELL
JILR
R b= 30,000
A () B 31 752 33.700
wEmRERA | BUERL
77 R
LYz
ARG () B3l 27,800
HEmEHR | WELL
J L7
ARG () B3 39,200
HEmEHR | WELL
53I—%
ARG () B3l 51,000
HEmEHR | WELL
ayv
Ak 2E—2) 46,000
AR () RE Ak 3L —2) 48,700
Atk (4E—2) 51,400
AR 2E—2)
WEME ()RS Ak 3E—X) BWEL L
AR (4E—2R)

28
e @AK | -c)



{75z

A (F3) B2 3l 49,600
HwEmEHR | WELL
7Y
A (F3) B2 3l 49,600
HEmEHR | WELL
VT4 L
A (F3) B2 31 36,000
HwEmEHR | HELL
A )
FHA -01 36,700
FHA >-02 38,400
A () B 31 =403 40,000
FH A -04 42,300
T4 01
THA-02
== f*
WEREEEBY D s WEAL
THA-04
78X
70y 1XEHTY 19,800
HREEERI o~ 759 /1% By 18,400
— L
wEmEER D AXT BT e L

UINN— TS5y IIXEHTY

7AX7L—L THA 02

754

A () B 31 57,000

wEME)HI  WELEL

NF

A () B 31 49,600

wEME)HR  WELEL

TL—

A (F) B 31 59,400

wEME)HR  WELL

TJILITVF

M A X 29,400
S () B3I S 32,800
N M+ A X =

B A4S (F3) e 5 TP MER L

oL

AE@EEDHR | 1XFH1-Y 6,700

WEMEEHZ | 1XFH1-Y 7,000

7aX7L—L FTHA-01
1= 39,800

A (F) B 31 2 F 51,200
3T 68,400
1=

SO S (F) #51 2= FEE
3INF

HEY—

A () B 31 26,800

wEMS)HR  WELEL

TAZT

A () B 31 19,000

wEME)HRI  WELEL

LN

A () B 31 19,300

wEMS)HRI  WELEL

T—T47

A () B 31 21,300

wEMS)HR  WELEL

SEKBE

A () B 31 36,800

wEMS)HR  WELEL

TY—+k

A () B 31 24,500

wEMS)HRI  WELEL

RF v b

A () B 31 20,300

wEME)HR  WELEL

29
sz (TR -c)

1X= 51,200
A (F9) B 2XF 62,600
3% 78,400
1XF
E AR (F) 81 2= FEE
3INF
Loy
FHA 1, 2 30,000
A (F9) B 31 W 33,400
- FHA 1, 2
e (F) BB W HEE
FTaAT7X
A (F3) B2 3l 36,700
HEmEHR | WELL
I
A (F3) B2 3l 17,800
HEmEHR | WELL
T BIGE
A (F3) B2 3l 29,900
HEmEHR | WELL
7 Xk
A (F3) B2 3l 26,700
HEmEHR | WELL
~L R
HtEr (R 2V 5,400

F—LT7L—F} 11,700

~—244L 5600

W MAE (F) BB S LTL— 1 EERL
aly—Xx

A (F) B 31 20,900

HEmEHR | WELL




AbU7

AR (F) B3l 24,000

wEME)HI  WELEL

ATA47T

AR (F) B3l 39,000

wEMS)HR  WELEL

JL7—+

HIiL— b
Y5 45,400
AT () B 31 Ty R 48,300
Bm (F7>) 20,000
+57
W (F) B 31 oy R WERL

| (F7>)

So

SEBRER L/ S —Y

AR (F) B Al 39

wEMS)HR  WELEL

T b7 ZA&SUGEER)

AR (F) B3l 510

wEMS)HR  WELEL

727 —IL200S

AR (F) B3l 10,100

SE A% (F3) B Al 11,300

77 b

AR (F) B3l 11,000

SE A% (F) B Al 12,700

A/ =)L 7)r7a—¢t

AR (F) B Al 17,300

SE A% (F) B Al 21,630

TS =V

AR (F) B3l 6,000

SE A% (F3) B Al 7,500

1150 30,400
AR (F9) B 31 01200 33,300
1150
== f*
B i (1) B 200 WELL
X kY
AT (F3) #5231 25,600
SUE Mt (F) KBl RE
IR
AR 25,800
AR ()RR v E7e—F 590, h—%rL— s-L7L—) 4,000
YARTL—b =27y F 747y F) 8,000
FIRES
WEMAE (FNFLR | 4 k7= T390 n—%rL— s-LsL—) MELL
BAETL—F (B=07 9 E. 549y F)
AL G n—R
FE(kg) A (F) BL Bl | SUE s (F) BBl
4.0 26,400 .
2.0 15,400 WES L
T7ohvy b
AT () #5251 12,800
SUE Mt (F) K Bl 14,700
777 7 —JL500S
AT (F3) #5251 10,100
SUE Mt (F) KBl 11,300
XA bL o RP
AT (F3) #5251 1,230
SUE Mg (F) KBl 1,380
AL/ =L 77— FRX—/X—
AT () #5251 19,600
SUE M (F) KBl 24,500
1o —>vR—/8—=SP
AT (F3) #5251 17,300
SUE M (F) KBl 21,630

30
e @AK | -c)






